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v’ Reddish brown scab of abrasion:
1-2 days
v Abrasions help to assess all of the following except:
a. Site of injury
b. Direction of injury
c. Age of injury
d. Severity of injury
Answer: D
v Direction of abrasion;
Tear in clothes
Skin tag
Depth
Spread of used instrument particles
Severity of the abrasion
Answer: B
v" Brush burn refers to:
Electrical burn
Lightening burn
Sliding abrasion
Pressure abrasion
Scald burn
Answer: C
v" Wrong about frictional abrasions:
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b. Low or no bleeding
c. Heals quickly
d. Useful for timing of attack
e. No complications usually
Answer: i}
v Exact aging of abrasion:
a. Histological
Naked eye
c. Histochemical
d. Can’t be determined
e. Can be determined after 3 days
Answer: D
v’ Patterned abrasion is which type:
a. Linear abrasion
b. Pressure abrasion
c. Sliding abrasion
d. Graze abrasion
Answer: B
v Which of the following is true about contusions:
a. Result from blood extravasation
b. Black colored lesion
Answer: A
v Greenish discoloration of contusion:
Hematoidin pigments
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Which of the following is followed by color change, and result from extravasation of blood: *
Contusions
Which of the following wounds experience color change:
a. Contusion
b. Laceration
c. Abrasion
Answer: A
Most common type of open wound in the ER:
Laceration
Pressure and friction by sharp object causes:
a. Abrasion
b. Laceration
c. Incision
Answer: C
Blunt trauma that causes incised wound:
a. Hand
b. Chest
c. Scalp
Answer: C
Fabricated wounds are most likely:
a. Abrasions
Stab wounds
Incisional wounds
Contusions
Lacerations
Answer: C
Which of the following is wrong about fabricated wounds: *
Parallel
Multiple
Most common on the wrist
May occur at the abdomen or chest
Result in small bruises
Answer: E
Wrong about fabricated wound:
Deep wound
In examining stab wound we describe all except:
a. Site of wounds
b. Number of wounds
c. Effects of injuries
d. Wound length
Answer: C
Black color in bullet entrance in gunshot wounds due to:
a. Smoke
b. Unburned powder
c. Flames
Answer: A
Most sensitive sign of near distance gunshot wound:
Stippling
About tattoo on skin one correct:
Cannot remove wiped
Tattoo marks destroyed, their presence can be inferred from presence of pigment in:
a. Deep dermis
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b. Subcutaneous tissue
c. Regional lymph node
Answer: C

v Asshot in the check, tattooing, no burn, distance is: *
In contact with skin
Few inches
3 meters
4 meters
More than 4 meters
Answer: B
v Presence of only tattooing around the entry wound is seen in: *
If the skin of the entry wound is supported by flat bone
In loose tissues
Distant shot
Contact shot
Close shot
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Answer: E
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ﬁeal‘/band,aaapaﬁt(mzc/zange&, Sudden death, YPBumns & Eectrocution

v’ Earliest sign of death is: **
a. Rigor mortis
b. Postmortem lividity

d. Cooling of body
e. Corneal clouding

Answer:-i

v" Putrefaction occurs first in:

if "tracheallarynx" is among the choices then it is the correct answer because they are

a. Brain the first organs to putrefy (reference; google drive link sent yesterday)
b_ Heart slides mention that (Brain & epithelial tissues are the 1st to be affected by putrefaction)
c. Uterus

Answer: A

v Adipocere one correct:
a. Type of mummification
b. Indication laceration wound
c. Indication bone fracture
d. Indication psychiatry
Answer: A
v All are true about rigor mortis except:
a. It can be used to know death interval
b. It start in small muscles
c. It's faster when muscles were exhausted before death
d. It's delayed with cold
Answer: A
v All are-7ue about hypostasis except:
a. Can occur ill live person
b. Occurs in internal organs
c. Starts after 1.5-2 hours of death
d. It settles after 8 hours
Answer: A
v Which of the following is true about external staining after death: *
a. Affects all body parts
b. Occurs in dependent areas of the body
Answer: B
v" All of the following affect rigor mortis except: *
a. Muscle size
b. Activity before death
c. Temperature
d. Bleeding severity
Answer: D
v Tache noire... time:
a. 1 hour
b. 2hours
c. 3hours
d. 4hours
Answer: D
v’ Late to putrefaction:
a. Brain



if "trachea/larynx" is among the choices then it is the correct answer because they are the first organs to putrefy (reference; google drive link sent yesterday)  
slides mention that (Brain & epithelial tissues are the 1st to be affected by putrefaction)


b. Prostate
Answer: B
Putrefaction occurs faster in:
a. Water
b. Soil
c. Salt water
d. Air
Answer: D
Lividity can help you in:
a. position of body after death
b. Exact time of death
c. Exact cause of death
Answer: A
The first muscle to be involved in rigor mortis:
Small muscles of the hand
Orbicularis oculi
Rectus abdominis
Sternocleidomastoid
large muscles of the leg
Answer: B
Which is responsible for cause rigor mortis:
Depletion of ATP
Rigor mortis appears:
a. .5hour
b. 2hours
c. 3hours
d. 8hours
Answer: B
Rigor mortis is likely same to:
Cadaveric spasm
Correct order of events after death:
Flaccidity — rigor mortis — cell death — putrefaction
When the intraocular pressure reach O:
20 min
40 min
60 min
70 min
120 min
Answer: E
Most influence on early development of rigor mortis:
High temperature
Definition of sudden death:
Death within 24 hours of appearance of 1st symptom
The most common cause of sudden death in a young patient after exercise is:
Ruptu red berry aneurysm => hypertrophic obstructive cardiomyopathy (HOCM)
Most common cause of unexplained death in adult females:
Ischemic heart disease
Which of the following is the most common cause of sudden death: *
Cardiovascular system
Should not be recorded as a cause of sudden death:
a. Hyaline membrane disease
b. Cardiopulmonary arrest
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=> hypertrophic obstructive cardiomyopathy (HOCM)


c. Bronchopneumonia
d. Pulmonary embolism
e. Acute coronary occlusion
Answer: B
Not in electrocution:
Erythema around skin wound
One of the following is true about pugilistic attitude: *
Flexion of the knees, extension of the hip
Flexion of the hip, extension of the knees
Occurs in extensive burns
Seen in rigor mortis
A positive sign of antemortem burns
Answer: C
Pugilistic attitude occurs due to:
a. Muscle contraction
b. coagulation of muscle proteins
Answer: B
Which doesn’t need prolonged resuscitation?
a. Subarachnoid hg
b. Hypothermia
c. Electrical shock with alternating current
d. Drug addict comatose
Answer: C
About lightning injury which is false:
a. Person commonly found outside
b. lrregular bizarre distribution of lesions
c. Low voltage high current injuries
Answer: C
One increases decomposition:
a. Hypostasis
b. Cadaveric spasm
c. Heat contracture
d. Heat exhalation
e. Starvation
Answer:="
All in heat artifact except:
Hemopericardium
Slit wound
Blisters
Epidural hemorrhage
pugilistic position
Answer: B

Pop o

Pop o

i Ll e pang B O ] o A 0 et p R 8B G i e - PN RNUCRIE o [y U P
! i L i e Lo e
:_'.- il el gl

il PONSLRCTTR R IRE ISR Tl I

LA A gl o ta D oaeT o
Lt o Vil U7 D ail A e e 0 0 O

Pl et =l o s T 3 L P oy 5 3 1
L 8T oy el L s F g e i e ey S O
\]UI-lr':llt_.'d iy pl =2 e by ity B A e

merll ey i ) - I e R

L - =




1 L G o o gl ity g e e
Bl sl e caad g
b gt by bl T =
gl L8 Loell gl -

i 2SI pnl g~

bl chad g —p

PRSP T AT g J._'_"J-__J.J_'J-
T TEP
E3.) g BNl =y
i..!-JiJJ-_'_.,__(_'nJJ"_'-_.:A_. -

A A ) Bl 3 ) A
i, 50 sl
e J Ll s, e -
S S0 a1 N e p—H =z
(! oy J AN -2
el Sl ar —¢

ol e Ll S kol B et
AT A gy -
Ak N A e ST gand 3 3 A S~
e T e R e e P
il il g gl T e il ez~




Clphyxia & Orowning

v Not found in hanging:
Scratch
v One will not cause lung petechial rash:
a. Throttling
b. Closure of neck by hand
c. Drowning
Answer: /A
v Victim was strangled with elbow around neck, this is referred to as:

a. Incaprettamento
b. Garroting
c. Bansdola
d. Burking
e. Mugging
Answer: E
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ot in child abuse:
Linear tibial fracture
Scald burn marks just above ankle level
Bruises of different ages and healing times
Discordance between history and physical
Hair removed in clumps
Answer: A
One isn't a sign of recent child abuse:
a. Rib fracture
b. Oozing serum
c. Adherent scar
d. Bluish areas
Answer: 5
True about non-accidental child injury:
Bruises on a non-walking child is suspicious
Child abuse affected by all EXCEPT:
a. Parents race
b. Bruising of different ages
c. Delayed seeking medical help
Answer: A

® oo _crsv|

You are in the ER, a father with his daughter came because his daughter has severe sore throat, during
examination u suspected child abuse, which of the following is most consistent with child abuse:

a. Bruises on thigh areas with different age
b. Severe anxiety of the daughter
Answer: A
Not a sign of child abuse:
Forehead wound in a 2-year-old
Infanticide is:
a. Nurse killing a newborn
b. Father killing his baby < | year
c. Mother killing .... Child < 1 year
d. Mother killing her child in last week
Answer: C
Least useful test to indicate rape:
a. Positive gonorrhea culture
b. Presence of .... acid in the vaginal pool
c. Lacerated hymen
d. Active spermatozoa
Answer: A
Patient got raped, your job as a Dr. in the ER:
a. Call for a forensic Dr
b. Admit her to hospital
c. Take full history
d. Collect samples and evidence
Answer: C
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Lnthoduction to. forensic medicine & VNedical teports

v’ Forensic medicine primarily depend about:
a. Why and how the people harm other
b. Identification of person
c. Detecting the time since death
Answer:- =
v Which of the following can be used as evidence in the court:
a. A report that the driver was drunk
b. Blood alcohol level
Answer: A
v As a general physician in the emergency department, once received a trauma patient after fight your job is:
a. Take full history
b. Document all injuries
Answer: B
v You were called to a homicidal case, what do you do:
a. Examine only injured body part
b. Follow police report
c. Examine all of body
d. Wait for family's permission
Answer: C
v" When a doctor frauds and gives a report to someone who got involved in a fight saying that he should be off
work for 24 hours, one of the following results:
a. The other party will be sent to jail
b. This patient will be treated as a victim until proven otherwise
c. That means that the doctor stated he has injuries resulting from this fight, which is a false accusation
d. All of the above
e. None of the above
Answer: D
v As a doctor who first receives a patient in the ER, the most important task you should do is:
a. Write specific details about the injury
Inform the police
c. Indicate whether your report is primary or final
d. Take full history
e. Add the estimated Jua=ill 30
Answer: A
v One is true about consent:
a. Take consent of husband before therapeutic abortion
b. Take consent if age < 13 years
c. Take consent for abortion after rape
d. Take consent from pregnant in difficult labor
Answer: D
v A story about an unconscious patient arriving comatose to the ER with the help of a witness after the victim
was in a quarrel as the witness said. upon examination he was noted to have a contusion on the frontal
aspect of his head and with the help of CT he was found to have a fracture in the frontal lobe and bilateral
subarachnoid hemorrhage, what can you say to the police:
He was not in a quarrel
He was hit with a large stone
He was hit with a stick
He fell on the ground
He collided a blunt object
Answer: E
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P)Viscellaneous

v DNA fingerprint can help in:
Exclusive and inclusive
v" Which of the following is true about genotyping: **
a. The most accurate sample is hair
b. Itisat the level of DNA
c. It detect DNA products
d. It’s much like ABO blood grouping

Answer: B
v All of the following can be used as sample for genotyping except: *
a. Blood
b. Blood stain

c. Semen stain
d. Material under the nails
e. Hair
Answer:' 3
v DNA analysis can be for all except:
a. To identify the sex
b. In cases of rape
c. Missed persons
d. To determine age of blood spot
Answer: D
v" One is not related to PCR:
a. DNA amplification
b. Organization of pt
c. Identification to people
d. Drug industry
Answer: D?
v In DNA probing, we utilize:
a. Two variables
b. Coding segment
c. Multiple bands
d. PCR
Answer: C
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Tutroduction to toxicoloay & principles of management of acute poisonivg

v One is correct about charcoal:
Depend on poisoning
v One of the following is not correct about management of poisoning:
Airway stab
Breathing
Circulation
Glucose IV
Diagnosis of poisoning
Answer: E
v The limit of the dose response relationship on the response axis to a substance is termed:
Potency
Maximal efficacy
Selectivity
Specificity
Margin of safety
Answer: B
v The following are considered methods of dispositional antagonism except:
Alkaline dieresis
Dimercaprol administration
Charcoal administration
Enzyme induction
Enzyme inhibition
Answer: B
v The following is true regarding acid exposure except:
Strong acids usually produce coagulation necrosis
Hydrofluoric acid usually produces liquification necrosis
Emesis is usually contraindicated after ingestion
Mild alkali arc usually used to neutralize the acid
The antral part of the stomach is usually the frequent injured part after ingestion
Answer: D
v" Clinical toxicology usually deals with the following except:
Investigation diseases caused by toxic substances
Treating patients poisoned by toxic substances
Developing new technique for treatment of intoxication
Investigating diseases associated with toxic substances
Establish causes of death caused by toxic substances
Answer: D
v" The following criteria favor forced dieresis except:
Drugs with high values of the apparent volume of distribution
Acid urine for weak basic drugs
Basic urine for weak acidic drugs
Drugs with low plasma protein binding
Drugs with have limited metabolism
Answer: A
v The following is best advised emetic for a 5-year-old child when ingested large number of his grandmother
medication: **
Sodium chloride solution
Stimulation of gag reflex
Copper sulfate solution
Apomorphine ingestion
Syrup of ipecac
Answer: E
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v Drug with acidic pKa, what to give him to increase diuresis of that drug:




a. Na bicarbonate
b.  Ammonium chloride
c. Aceticacid
Answer: A
Which of the following can interrupt Enterohepatic circulation:
a. Serial active charcoal
b. Peritoneal dialysis
c. Hemodialysis
d. Emesis
Answer: A
All the following increase the toxic effect of a substance except:
Decreasing the enterohepatic circulation
Not given to unconscious patient in ER:
Cocaine
All the followings are suitable routes to increase the excretion of a substance except:
Exchange transfusion
Induction of emesis
Serial charcoal
Alkalinization of urine
Hemodialysis
Answer: B
The following is true regarding exposure to poison except:
About half of adult fatality due to poisoning are suicide
Majority of acute poisoning occurs at home
Poison ingestion is a main route of exposure
Majority of poisoning exposure are accidental
Majority of poisoning in young children are homicidal
Answer: E
Activated charcoal in one of the effective lines in gastrointestinal decontamination, when properly applied in cases of
poison ingestion the following are true except:
Low molecular weight ..... have poor binding affinity to charcoal
lonized poison show good binding affinity to charcoal
Repeated doses of charcoal is advised to substances re excreted in gastrointestinal tract
Recommended dose is ten time the ingested poison
Charcoal binding affinity is improved when present in solution
Answer: B
What’s true about tolerance:
It produces shorter effect with the same dose
Severe sensitivity to toxin family term:
idiosyncrasy
Decreased responsiveness to a substance after prolonged period of administration is termed:
Tachyphylaxis
Idiosyncrasy
Tolerance
Physical dependence
Hypoallergy
Answer: C
The reaction in which non-toxic substance increases the activity of a toxic substance is:
a. Potentiating

Poo0oTe
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b. Synergism

c. Additive

d. Antagonism
Answer: A

The following arc associated with acetyl salicylic acid (aspirin) except:
a. Decrease platelets adhesiveness
b. Ray's syndrome




c. Aspirin sensitivity
Gastric erosion
e. Decrease prothrombin time
Answer: E
v The following factor/s enhance aspirin excretion:

e

Hypokalemia

High doses of aspirin

Chronic liver diseases

All of the above

Answer:~{Z

v A patient was admitted to hospital with manifestation of poisoning and anuria. The poisonous substance is a weak
acid and has less than 1 L/Kg apparent volume of distribution and low plasma protein binding the appropriate method
for enhancement of elimination of that substance is:
a. Forced alkaline dieresis
b. Forced acidic dieresis

o0 oC

d. Charcoal hemoperfusion
e. Ambolitc XAD-4 hemoperfusion
Answer:-
v In the management of acute kerosene poisoning complicated with aspiration the following is true:
Emesis within the first hour
Start antibiotic within eight hours
Start steroid within the first day
Avoid oil cathartics
Neglect fever appearing after 3 days
Answer: D
v The following are possible causes of hypoxia in kerosene poisoning complicated by aspiration except:
High validity of kerosene
Chemical pneumonitis due direct pulmonary capillaries damage
Inhibition of the surface in the alveoli
Pulmonary edema secondary to chemical pneumonitis
Displacement of oxygen in the alveoli by low volatility kerosene
Answer: A
v The following is/are could be associated with volatile substance abuse:
Dead poisoning
Hallucination and trauma
Intellectual impairment
All of the above
None of the above
Answer: D
v The following are possible benefits for the result of toxicological screening except:
Positive results confirm the diagnosis
Negative results means that no poisonous substance is present
Documentation for medicolegal consequences
Show presence of multiple poisonous agent
Decide further therapy for the patient
Answer: B
v"Idiosyncratic reaction of succinyl choline:
a. Deficiency of alcohol dehydrogenase
b. Deficiency of pseudo choline esterase
Answer: B
v The following is true regarding the surface tension properties of petroleum distillates hydrocarbon in cases of acute
poisoning:
a. High surface tension means rapid spread in mouth and trachea
b. Low surface tension means rapid spread in mouth and trachea
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c. Low surface tension means rapid absorption in the intestine

High surface tension means rapid absorption in the intestine

e. No relation of surface tension to spread or absorption
Answer: B

e

Which of following combination is right:

a. Methadone — naloxone
b. Ethanol-4M P
c. Protamine - warfarin
d. Vitamin k - heparin
e. Disulfiram -- ethylene glycol
Answer: A
One is the least likely to cause seizure within first 1hris: *
a. lsoniazid

b. Amitriptyline
c. Propoxyphene
d. Acetaminophen

Answer: C
One correct about antidote:
a. Morphine -Methadone
b. Naloxone -Heroin

Answer: B
One of the following is true regarding antidote and its corresponding poison: *
Naloxone for barbiturates
Fomepizole for ethanol
Oxygen for carbon dioxide
Flumazenil for benzodiazepines
Disulfiram for methanol
Answer: D

o0 o

IV abusers may develop the following diseases except:
a. Autoimmune def.

b. HBV
c. Leukemia
Answer: C

The following is an appropriate antidote for atropine poisoning presenting with CNS manifestations:

a. Pyridostigmine
b. Pyridoxine

c. Pralidoxime

d. Neostigmine

e. Physostigmine

Answer: E




CNS depressants & CNS stimulants

v All of the following result from acute severe opioid intoxication except:
a. Pulmonary edema
b. Apnea
c. Acute hypertension
Answer: C
v Which of the following is not a symptom of morphine withdrawal:
Meiosis
v" Patient with respiratory depression, coma, constricted pupil, you order:
Volatile substances
Opiate
Ethanol
Amphetamine
All of the above
Answer: B
v Which's true about heroin?
a. Itdoesn't produce physical dependence
b. Codeine is excreted in urine
c. Heroin is excreted in urine
Answer: B/IZ
v" Morphine withdrawal, medication for maintenance:
Buprenorphine
v" 21 ylo lady known drug abuser, came with meiosis, respiratory depression and altered LOC, best initial
management.™
Opioid antagonist (naloxone)
v" All of the following result from amphetamine intoxication except: *
Urinary retention
v" Which of the following describe how cocaine result in ischemia of the heart:; *
a. Increase cellular metabolism of the heart from hypertension and tachycardia
b. Vasospasm of the coronaries from alpha adrenergic receptor stimulation
c. Induce arrhythmia
d. All of the above
Answer: D
v Which's wrong about cocaine?
a. It produces tolerance rapidly
b. Can produce tactile hallucinations
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Answer: A
v One of the following is wrong about amphetamine:
Weight gain

v" The active ingredient in crack smoking is:

a. Diacetylmorphine
b. Cocaine
c. Tetrahydrocannabinol
d. Lysergic acid diethylamide
e. Ephedrine
Answer: B
v Cocaine antidote:
a. Naloxone

b. Atropine

c. N-acetylcysteine

d. No available antidote
Answer: D




Alcohol

v One can cause death in ethanol:
Respiratory depression
v" Ethanol all true except:
Is not independent about habitual person used
v Blindness seen in:
Methanol poisoning
v" All true about ethanol except:
Tetany and hypocalcemia
v" Alcohol 50-100 % lead to all except:
Slow reaction with time
v" The following are true regarding drinking alcohol: EXCEPT

b. Alcohol usually produces respiratory depression at high levels
c. Dependence can occur in chronic and heavy drinker
d. Alcohol drinking usually produces false feeling of warmth
Answer: Z
v Urine ... Calcium oxalate crystal can be detected in poisoning with:
a. Poluene
b. Methanol
c. Carbon tetrachloride
d. Ethylene glycol
Answer: D
v Alcohol drinking is incriminated in the Jordanian civil law, when drinking is associated with violence or ... the
following is/are considered appropriate evidence of alcohol drinking before the court:
Ethanol blood level
Ethanol urine level
Ethanol breath level
Medical report showing that the person is under the effect of alcohol
All of the above
Answer: D
v" The following procedure/s can significantly and safely reduce alcohol blood level:
Oral fructose
Heavy exercise
Forced dieresis
All of the above
None of the above
Answer: E
v" Oral ethanol should be given in the treatment of acute ethylene glycol poisoning to:
Prevent ethylene glycol absorption from intestine
Induce ethylene glycol metabolism by liver enzymes
Shorten ethylene glycol half-life in the body
Reduce ethylene glycol metabolism by liver enzymes
Convert ethylene glycol to nontoxic metabolism
Answer: D
v" The following is true regarding ethanol metabolism:
a. Metabolism increases with increasing doses

®oo0 o Po0 o
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c. Atypical alcohol dehydrogenase has highest metabolic rate
d. Metabolism usually depends on alcoholic beverage
e. Chronic alcoholism decreases metabolism
Answer: i
v One of the following causes blindness:
a. Formaldehyde
b. Acetaldehyde



De-

EXCEPT 


c. Carboxylic acid
Answer: A
Which of the following gives a clue that the patient might have ethylene glycol poisoning: *
Fluorescent urine
Radio-opaque material in stomach
Hypokalemia
Ketonuria
Hyperemia of optic disc
Answer: A
3-year boy presented to emergency room three hour following ingestion of 30 ml antifreeze fluid from his family
garage, one of the following is suggested as part of managements:
Request urine analysis for crystals
Avoid hydration of the patient
Give sufficient amount of activated charcoal
Suggest both fomepizole and ethanol as antidote
Monitor for hypercalcemia contraction

o0 o
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Answer: A

Child ingested ethanol and had seizures, most likely cause is: *
a. Hypoglycemia
b. Hyponatremia
Genetic predisposition to epilepsy
d. Co-ingestion of cocaine
e. None of the above
Answer: A
70 kg patient ingested 100 ml of 50% whiskey (Vd is 0.5, specific gravity 0.8) assuming no excretion and full
distribution, what is the likely concertation of ethanol in his blood: *

o

a. 50 ml/dl

b. 100 mi/di

c. 200 ml/di

d. 500 ml/dl
Answer: B

Ethylene glycol blood test:

a. K

b. Ca

c. Na

d. CI
Answer: B

What's going with alcohol dependence:
a. Increase in ESR
b. Leukocytosis
c. Macrocytosis
Answer: C
Caused by ethanol:
Hemorrhagic strokes
Ischemic strokes
Thrombocytosis
A+B
A+C
Answer: D
At level of 50 mg/dl of alcohol in blood, a person will have:
a. Slurred speech
b. Disequilibrium
c. Coma
d. Stupor
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e. Affect vision
Answer: B
v The following are possible adverse interaction with acute ethanol exposure except: **
Increased acute hepatotoxicity with paracetamol
Increased ocular toxicity with methanol
Increased gastrointestinal bleeding with aspirin
Increased sedative effect with barbiturates
Increased CNS depression with phenothiazines
Answer: B
v True about methanol/ethylene glycol intoxication treatment with ethanol:
IV ethanol is used at concentration of 5%

o0 o




Pesticides

v" The following are usual manifestation of strychnine poisoning except: *
Early loss of consciousness during initial convulsion
Convulsions are easily precipitated by stimuli
The body appears in opisthotonos position during convulsion
Convulsion episode lasts from one to two minutes
Convulsion occurs every five to ten minutes
Answer: A
v Organophosphates:
Metabolized by Cytochrome P450 in the liver and some of their derivatives carry a worse outcome than they do
Miosis occurs in small percentage of exposed patients
Have a distinct garlic odor
A+C
All of the above
Answer: D
v About organophosphate poisoning all is true except:
a. Give atropine
b. Give pralidoxime only
c. Give atropine and pralidoxime
Answer: B
v Farmer presented with cyanosis, frothy mouth secretion, difficulty breathing, pinpoint pupils, the FIRST thing you
should do is:
a. Clear airways
b. Give atropine
c. Give pralidoxime
Answer: A
v" Which’s true about organophosphorus compound and carbamates:
Both are irreversible inhibitors of Ach esterase
Both are reversible inhibitors of Ach esterase
Both are used with atropine
Both are used in nerve gas
Both are treated with pralidoxime
Answer: C
v About Organophosphates (true :)
a. Needs atropine in much higher dose than doses in simple bradycardia
b. A stable heart rate is an acceptable indicator to stop treatment
c. Atropine is a cholinergic agent
d. Pralidoxime works as an anticholinergic agent
Answer: A
v" Pralidoxime is advised be used for management of organophosphates insecticides poisoning to:
Reactivate choline esterase’s function
Destroy acetyl choline within synapses
Abolish choline esterase’s activities
Antagonize acetyl choline effect
Replace atropine as antidote

o0 o
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Answer: A

v Atropine can treat all of the following after organophosphate poisoning except: *
a. Muscle weakness
b. Miosis
c. Bronchorrhea
d. Diarrhea
Answer: A




A young farmer was found dead in a greenhouse which was under fumigation postmortem showed cherry red
hypostasis. The following investigations could support the diagnosis:

a. Carboxy hemoglobin level
b. Cyanide blood level
c. Methemoglobin level
d. Blood choline esterase activity
e. All above investigations
Answer: D
All are muscarinic symptoms of organophosphorus poisoning except:
a. Diarrhea

b. Salivation
c. Paralysis is a nicotinic symptom
d. Urinary retention [urinary incontinence is a muscarinic symptom]
Answer: D
Used to reverse organophosphate effect on AChE:
Pralidoxime
A worker in pesticide factory, developed severe abdominal pain, vomiting blood, diarrhea, cyanosis and cold dummy
skin a garlic..... odor was detected in his breath. These manifestations appeared one hour of ingestion a solution in the
factory with suicidal intention. The following could be part of the management except:
Do gastric lavage
Consider hemodialysis
Administer British antilewisite
Blood level for the blamed substance is helpful within 24 hours
Do monitoring electrocardiogram
Answer: A
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is a nicotinic symptom 

[urinary incontinence is a muscarinic symptom] 


CN poisoning, CO poisoning & paracetamol toxicity

v" Cobalamin can be used as antidote for which poisoning:
a. Hydrogen cyanide
b. CO
c. Organophosphate
Answer: A
v Cyanide antidote:
B12
v’ Effect of cyanide:
impairs cytochrome utilization of oxygen
v True about CO:
a. Silent killer
b. Cyanosis
c. Frothy secretion
d. Wheezy chest
Answer: A
v" Mechanism of toxicity in CO poisoning:
a. Asphyxia due to decreased oxygen perfusion
b. Increased hemoglobin affinity to gas
Answer: B
v Which of the following are long neurological sequalae of CO poisoning:
Memory loss
Fecal incontinence
Cortical blindness
Parkinsonism
All of the above
Answer: E
v" What’s the mechanism of CO poisoning: *
It binds Hb and prevents O2 release
v About CO and its relation with hemoglobin, what is true: *
a. CO has very high affinity to HbF
b. CO has double the affinity to Hb than 02
Answer: A
v One of the following is a wrong physical characteristic for carbon monoxide:
Tasteless
Heavier than air
None irritant
Odorless
Colorless

Poo0oTe
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Answer: B

v One of the following is a wrong physical characteristic for carbon monoxide:
Colorless

None irritant

Lighter than air

Tasteless

Garlic odor

®Poo0ow

Answer: E

v One of the following is a wrong physical characteristic for carbon monoxide:
a. lrritant
b. Tasteless
c. Colorless




d. Odorless
e. Lighter than air

Answer: A

Acidosis is a usual complication during the following causes of poisoning except:

a. Acetaminophen (paracetamol)

b. Acetylsalicylic acid

C. Ethylene glycol ethanol metabolism causes NO acidosis

e. Methanol
Answer: A Y hinle i the ahiova canses =oidnsis o
The following investigations are required to monitor a patient with complicated paracetamol poisoning except:
a. Glucose blood level
b. Parameters of kidney function

in toxic APAP levels obtain ALT, AST, BUN, PT on admission
d. Prothrombin time and daily until levels get to normal. Cr, urinalysis, electrolytes

A A and glucose if liver function abnormalities develop.

e. Parameters of liver function

Answer: L dLoee o Ll )
The following is true regarding paracetamol toxicity: *
Tissue damage usually results from a toxic metabolite
Paracetamol blood level usually has no value to aid management
Oral antidote is usually administered with oral charcoal
N-acetyl usually is effective if given within 15-24 hour
Clinically, initial hepatic stage due to toxicity appears within 24 hours
Answer: A
NAC is of maximal effect in hepatic protection when given:
Intravenous rather than orally
Higher doses in charcoal use
Within 8-12 hours
In chronic abuse
All of the above
Answer: C
Which of the following is true about NAPQI: *
a. Toxicity happens only if glutathione levels are low
b. Only produced in liver
c. Produced in zone Il of the liver
d. Only produced in cases of acetaminophen overdose

Poo0 o
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Answer: A
All seen in Acetaminophen toxicity except:
Esophagitis

Thrombocytopenia

Cardiac toxicity

Pancreatitis

Bronchospasm and urticaria

Answer: A

One of the followings is wrong regarding acetaminophen measurement to guide antidotal management:
Recommended for acute toxicity of acetaminophen

Rumack-Matthew nomogram is best applied

Nomogram is not used to evaluate chronic repeated exposure

Nomogram is not helpful after two days of exposure

Best blood sample is taken fourty eight hours post exposure

Answer: E

One of the followings are sings of hepatic insufficiency in acetaminophen toxicity:
a. Hypoglycemia

b. Renal failure
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ethanol metabolism causes NO acidosis 

in toxic APAP levels obtain ALT, AST, BUN, PT on admission and daily until levels get to normal. Cr, urinalysis, electrolytes and glucose if liver function abnormalities develop. 


c. Encephalopathy
d. More bleeding tendency
e. All of the above

Answer: E
v" Which’s true about paracetamol:
Hepatotoxic
Produces toxicity in adults at dose higher than 10gm
Antidote is pyridostigmine
A+B
A+C
Answer: A
v" Theoretically, which would predispose to faster acetaminophen metabolism and intoxication? **
Chronic alcoholism without acute alcohol intoxication
v All are true about paracetamol poisoning except:
Glutathione excess has worse prognosis
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Hallucivogens toxicity, Sports doping & plant toxicity

v

One of the following mechanisms of action is true: *

Cocaine decreases adrenaline at neuromuscular junction

Cannabis has two specific receptors

Opioid agonists are effective as antidotes

Ethanol selectively enhances reticular activating system in the brain
Opioids lack specific receptors

PoooTe

Answer: B

psychological

v

v

True about cannabis?
Rhysiolagical dependence
Designer drug:
a. A synthetic drug of higher quality sold among an elite network
b. Drug with modified formula that is practically not illegal
Answer: B
Spice (joker), all are true except:
a. Made from natural plant
b. Case reports of death among teens have been reported
Answer: A
Active form of marijuana:
THC
The following are true regarding marijuana abuse except: *
a. It's one of the major substances producing physical dependence
The usual route of abuse is smoking
The active ingredients are stored in lipid tissue
Urinary metabolites can be detected within seven days of abuse
Intravenous injection is a rare method for marijuana abuse
Answer: A
The following is true regarding marijuana abuse except: *
a. Marijuana is obtained from the Indian hemp plant cannabi .. sativa
Marijuana abuse is one of the major substances producing physical dependence
Bioavailability of the active substance is higher after smoking than after ingestion
Metabolites can be detected in urine within five days after marijuana smoking
Fatalities due marijuana abuse are rare
Answer: B
Not forbidden is sports:
a. Anabolic steroids
b. Amphetamine
c. Caffeine
Answer: C
Used to mask doping?
Furosemide
As a physician one of the following recommendations is suitable for an athletics:
a. Advise small doses of amphetamine to relief stress
Recommend injecting anabolic steroid to improve muscle tone
Advise fresh blood prior any match
Avoid erythropoietin to improve hemoglobin
Advise using diuretic to decrease weight
Answer: D
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A 7 year old child presented to the emergency room with high fever, erythema, dilated pupils, blurred vision, dry skin
and hallucination. Theses manifestation started to appear one hour after ingestion seeds of a wild plant. The following

could be included in the management except:



psychological 
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Perform gastric lavage

Apply cooling measures
Administer activated charcoal
Administer diazepam

Administer anticholinergic agents
Answer: E




Wiscellaneous

v" The following statements regarding food poisoning are true except:

a. Antibiotic administration may promote carrier state with salmonella infection
b. Cranial nerve palsy can be seen in botulism
c. Mucus stool is usually associated with organism causing noninflammatory diarrhea
d. Fecal leukocytosis are usually present in shigella causing food poisoning
e. Emetics aren't usually recommended for viral diarrhea
Answer: A
v The most serious toxic food poisoning is caused by:
a. Cholera
b. Typhoid
c. Shigella
d. Clostridium botulinum
e. Salmonella
Answer: D
v" Sources of arsenic in food are:
a. Fungicides
b. Battery factories
c. Soil
d. A+B
e. A+B+C
Answer: C

v The following procedure could be used in the first aid management in cases of snake bite except:
Removal of all constricting items (e.g. Rings)

Lights immobilization of the injured part

Application of tight constricting band above the swelling

Making small parallel incision through the long marks, through the skin and drainage
Resting the victim and reduction his activity

Answer: D
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